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ﬁig TREOBBOESSLADKRES TREDHBESSLADKRES TREOBBOESSLADKRES TREDHEBESSLADKES
= = i HN AV T = = AV = AV g | =
&5 K 4 .Z,na)c Tmb(:)@&ﬁ%ﬁ jj(gilzcnié X 4 Tmﬁgéég;ki 'Z]n%{ jn(giacn%é R 4 ,Z,na)c J:Jﬁﬁ?f)(:)@ttlﬁl jn(&zcnié X 4 J:m/a(z)wtb.a 'Z]n%{ jj(gilzcnié
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — -~ — — |3mZEHBZ B - ~ - - -
st 1.00 | 000 ~ 4.75 59.22 | #hdst | 0oo ~ 000|167 8.46 Zzh s 1.00 | 5.00 ~ 5.00 59.22 | #nS | 65.00 ~ 500 1.67 8.46
2 100kN/MZ#B% % — -~ - —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — -~ — — |3mZE#BZ B - ~ - - -
st 1.00 | 0.00 ~ 6.66 82.68 | =St | 000 ~ 0.00)| 1.66 841 ZzhLs 1.00 | 5.00 ~ 8.00 82.68 | =hLS | 5.00 ~ 800 1.66 841
3 100kN/mM&#8Z 5| 1.00 | 0.00 ~ 0.99 114.92 |3m&x#EZH| — ~ — — — | 100kN/mi% 25 | 1.00 | 10.72 ~ 14.00| 114.92 |3m&EBZ5 - ~ — — —
ZhnLst 1.00 099 ~ 878 100.00 | #ns | 000 ~ 878|210 10.69 Zh st 1.00 | 5.00 ~ 1072 100.00 | TnLSY | 5.00 ~ 1400 | 2.10 10.59
4 100kN/m#%#BZ25| 1.00| 000 ~ 1.89| 129.03 |3mZEBz3%| — ~ — — — | 100kN/mi% 25 | 1.00 | 11.59 ~ 1880 129.03 |3m&EBZ5 -~ - - -
Zh st 100189 ~ 967 100.00| ThLs |0oo ~ 967|264 13.35 Fhs 1.00 | 5.00 ~ 11.59| 100.00 | 0L | 5.00 ~ 1880 | 2.64 13.35
5 100kN/mM%#8Z5 | 1.00 | 0.00 ~ 1.91 129.40 |3mEBRB| — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.63 ~ 19.00| 129.40 |3m&EBZ5 -~ - - -
Zh st 1.00 | 1.91 ~ 9.69 100.00 | #nst | 0.00 ~ 9.69 | 2.65 13.38 Fhs 1.00 | 5.00 ~ 11.63| 100.00 | TN | 5,00 ~ 19.00| 2.65 13.38
6 100kN/mM%E#8Z 5| 1.00 | 0.00 ~ 1.21 11827 |3m&x#EZH| — ~ — — — | 100kN/mi% 25 | 1.00 | 13.79 ~ 19.00| 11827 |3m&EBZ5 - ~ — — —
zhLst 100|121 ~ 899 100.00 | #nLS | 0.00 ~ 899 | 2.84 14.36 Zh st 1.00 | 5.00 ~ 1379 100.00 | =0 | 5.00 ~ 19.00| 2.84 14.36
. 100kN/mM#ZH#BZ % — -~ = —|3mZE#BZB| 000 ~ 021|320 16.17 | 100kN/m%#BZ % — - ~ — — |3mEBZB| 1500 ~ 19.00 | 5.20 16.17
zh st 100|000 ~ 719 91.46 | =S | 021 ~ 719|300 15.16 zhst 1.00 | 6.00 ~ 19.00 91.46 | NS | 5,00 ~ 1500 | 3.00 15.16
g 100kN/mM#ZH#BZ % — -~ = —|3mZ#BZB| 000 ~ 021|320 16.17 | 100kN/m%#BZ % — -~ — — |3mERBZB| 1500 ~ 19.00 | 5.20 16.17
ZhLst 100|000 ~ 719 91.42 | #FnS | 021 ~ 719|300 15.16 zhs 1.00 | 6.00 ~ 19.00 91.42 | =nLSY | 5,00 ~ 1500 | 3.00 15.16
9 100kN/mM%E#BZ 5| 1.00 | 0.00 ~ 0.45 106.59 |3m&EBZB| 0.00 ~ 0.00| 5.00 15.18 | 100kN/m%#BZ % | 1.00 | 16.76 ~ 19.00| 106.69 |3mEREZB| 1500 ~ 19.00 | 3.00 15.18
Zh st 1.00 | 045 ~ 823 100.00 | #nst | 0.00 ~ 823| 5.00 15.16 Zh st 1.00 | 5.00 ~ 1676 100.00 | TN | 5.00 ~ 1500 | 3.00 15.16
10 100kN/mM#ZH#BZ % — -~ = —|3mZ#BZB| 000 ~ 010|310 15.65 | 100kN/m%E#BZ % — - ~ — — |3mE#BZB| 1500 ~ 19.00| 5.10 15.65
Zh st 100|000 ~ 775 99.43 | =S | 010 ~ 7.75| 3.00 15.16 Fhst 1.00 | 6.00 ~ 19.00 99.43 | #nLSY | 5,00 ~ 1500 3.00 15.16
17 100kN/mM%E#BZ5 | 1.00 | 0.00 ~ 2.04 131.55 |3mEBAD| — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.24 ~ 19.00| 131.55 |3m&EBZ5 -~ - - -
ZhLst 1.00 | 204 ~ 9.82 100.00 | #nst | 0.00 ~ 982|259 13.09 zhst 1.00 | 5.00 ~ 1124 100.00 | =hs | 5,00 ~ 19.00| 2.59 13.09
12 100kN/m#%#BZx5| 1.00| 000 ~ 086| 11284 |3mZEBZB| — ~ — — — | 100kN/mi%# 25 | 1.00 | 15.05 ~ 1900 112.84 |3m&EBZ5 - ~ — — —
Zhst 1.00 |08 ~ 864 100.00 | #nLS | 0.00 ~ 864|292 14.75 Zh st 1.00 | 5.00 ~ 1505 100.00 | TN | 5.00 ~ 19.00| 2.92 14.75
19 100kN/mM%#BZ25| 1.00| 000 ~ 218| 13387 |3mZEBz3%| — ~ — — — | 100kN/mi% 25 | 1.00 | 10.73 ~ 19.00| 133.87 |3m&EBZ5 -~ - - -
Zh st 100|218 ~ 997 100.00 | EThLs | 0oo ~ 997|249 12.58 Fhst 1.00 | 5.00 ~ 1073 100.00 | 0L | 5.00 ~ 19.00| 2.49 12.58
14 100kN/mM%#8Z5| 1.00 | 0.00 ~ 1.71 126.20 |3mEBRB| — ~ — — — | 100kN/mi%# 25 | 1.00 | 11.54¢ ~ 1780 126.20 |3m&EBZ5 -~ - - -
ZzhnLst 1.00 171 ~ 949 100.00 | =N | 000 ~ 949 2.63 13.32 zhs 1.00 | 5.00 ~ 1154 100.00 | #nst | .00 ~ 17.80| 2.63 13.32
5 100kN/MZ#B % % — -~ - —|3mZEBZB| — ~ — — — | 100kN/MZ#Z % — -~ — — |3mZE#BZ B - ~ - - -
Zh Lot 1.00 | 0.00 ~ 713 90.61 | =4 | ooo ~ 713|179 9.04 Lt 1.00 | 5.00 ~ 9.00 90.61 | NS | 5,00 ~ 9.00)|1.79 9.04
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ﬁi’% TREOBBOESSLADKRES TREDHBEILNDOKRES TREOBBOEILADKRES TREDOHBERILHDKRES
= = i HN AV T = = AV = AV g | =
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16 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — -~ — — |3mZEHBZ B - ~ - - -
st 1.00 | 0.00 ~ 4.69 5844 | =hst | 000 ~ 469|183 9.25 Zzh s 1.00 | 5.00 ~ 5.00 5844 | =nLS | 5.00 ~ 5.00)| 1.83 9.25
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zhst ~ FnLst ~ Fhs ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhnLst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ Lt ~ Fhs ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
zhLst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEAD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLst ~ st ~ zhs ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ Fhs ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLst ~ st ~ zhst ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ zhs ~ st ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ ZnLs ~ zhst ~ Zh st ~




